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If I have 5 kids sharing 3 brownies and another 5 kids
sharing 3 brownies, each kid gets 5/3 of a brownie.

If I put them together that’s 10 kids sharing 6 brownies,
each kid gets 10/6 of a brownie. A kid gets the same
amount both ways.

3/4 + 3/4 brownies

I start with 3/4 of a brownie. I go back and get another 3/4
of a brownie. How much of a brownie do I have
altogether?

Each child gets 3/4 of a brownie. Each child gets another
3/4 of a brownie. How much does each child get?



Each child gets 3/4 of a brownie. How much do 2
children get?

Brownies

Candy bars
Apples

Sandwich

Cookie

Banana

1/2 gallon of milk
1/2 cup of sugar
1/2 mile

1/2 yard

1/2 spoonful (teaspoon or Tablespoon)
1/2 inch



